Dear group,

 

I have encountered a problem with one of my changes within a workflow. For some reason the ending of a step is not recognized and the step makes the workflow crash when in runtime. 

Editing the step will give strange results by editing the next step behind my container task. 

The created container task will not be cut, copied or deleted and adding steps behind the created step is not possible anymore. From the point of the new created step till the end of the flow I can not ad another step.

I have added an attachment which contains some screenshots and a more extensive explanation.

Thanks for your input in advance!

Problems with workflow 90200013.
Within the workflow I have build a container task which should fill the container UNITFACTORYDATE with the value NL.

To create this task I copied another task and edited the name, result and expression
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At first this looked fine and with some other changes I closed my transport and send it to our test environment. 
Now testing this new step the workflow stops at some point and ends in an error. It does not stop at this newly created step, but much earlier. This at first was very strange, but I did not think of it as a big problem. Perhaps a wrong test scenario.

Now my client wanted the new function to work differently. Therefore I wanted to cut this block an paste it in a different section of the workflow. The strange thing is that when I opened my workflow I did not see the result name besides the line to the next step. With other container tasks I can see the outcome at the line below.

Second I can not cut, copy or delete this container task. 

When I cut or copy this task I get the following error:

[image: image2.png]€3 End node for block '0000000960' not found




When I try to delete this task:
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This is not what a deletion should look like!

When I click on YES, the workflow gives the message that de steps are deleted, but the step remaines.

So now it is clear (I think) that the step has got a problem with its ending point. If I change the settings of the container task the step following it will take the same description.
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When I look at the workflow in SWDA – WF Builder (alfanum.) I see a strange outcome of my created container task:
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I don’t understand why my container task is seeing step 000377 as the follow-up step and then some sort of task/event/result. 

I made my screenshot with another step where I think you see the right build up of a step.

My questions now:

1) Is there anyone who has experienced this before?;
2) Does anyone have a proposal on how to correct my problem (I would like to delete this step and rebuild this part).
Still to do:

1) Make a new version of this workflow and hope that it will correct this step itself;

2) Copy this workflow with it’s recent version and hope that it will correct this step itself;

3) Copy the version before the recent version and hope that version is not corrupted;

4) Transport the fore last transport from which worked fine, but I don’t know if this is possible and what the results will be?!; 

5) Rebuild the workflow?

Perhaps anyone can give me some other thoughts or experience with my still to do steps?!

